Evaluate variables expressions with whole numbers
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given that x =10

b. (50+a)x2

given thata =3

c. (40+s)-17=7
given that s =1
d (150-wW+12="7
giventhatu =6
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Evaluate the following expressions below ( simplify your answer)

53+ x="7

given that x =10

substitute 100 in place of x

—= |53+ x =531+ 100

Therefore, 53 + x =153

(150 ra)x2=7

given thata =3

ubstitute 3 in place of

|

> (150 +a) x 2 =

Therefore, (150 = a) x 2 =100

0

(40 +/s) =17 = ?

given that s =1
substitute 1in place of s

40+1D-17=

Therefore,(40 +s) -17 = 24

(150 - u) =12 =2

given thatu =6

stitute 6.in place of

=

= (150 -u) +12 =

(150 -6) +12 =144 <12

=12 3

Therefore,(150 - u) =12 =12
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